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I.  Continued analysis of X mwn —if the head of the 2915 was cut off, invalid
a. 2177 27 but if it was merely cracked, valid
b.  Challenge: Xn>™1 rules that the following are invalid n»a»?:
i. Invalid: bent, thorny, cracked, crooked like a scythe or completely hardened
1. However: if it has only begun to harden - still valid
ii. Defense (97): the “cracked 2915” of the Xn»11 is where it has completely split like two prongs
1. Revisiting the “crooked” 2515 X271 — only if it is hooked forward; backward is natural
a. 71 two versions — if the side is 171993 (9109) or »INRY3 (W)
iii. Note (¥27): a 29 with leaves on only one side is a " Y2” and invalid
II. Continued analysis of X nwn — if the leaves are off — invalid; if separated — valid
a.  9771%191 means that he made it like a broom (leaves fully detached, bound on to central branch)
i. And: 1191 means that they have separated from each other, but are still on branch
b.  Question (979): what if the nnvn (where top leaves join) is split?
i.  Proposed answer: 9”2 ruled that if the nnvn is gone, invalid
1. Assumption: same rule applies if it is split
2. Rejection: if it is completely gone, it is invalid (1on)
ii. Alternate version: 9"27’s ruling should be read as “split” is as if it is gone >0a
III.  Analysis of nmn’ 7’s requirement to bind 2515
a.  Source (in v™7's name): v1 — read ma3 as mad (bound) if separated, bind together
i.  Question (8”15 8¥1227): how do we know that o 1nn maa is 295? Perhaps Rmn (w/separated leaves)?
1. Defense: must be mas (bound)
ii. Question: perhaps it is the base (which is all one - “super-mas”)
1. Answer: mad implies that it could be separated, but we bind it
iii. Question: perhaps it refers to 81913 (soft branch of palm tree)
1. Answer: per v. 2 — must be pleasant — that branch is sharp and thorny
iv.  Question (8375): perhaps we require two branches (per ma — plural)?
1. Answer: it is written defective — nas (implying 1)
2. Challenge: if so, perhaps we only require one leaf?
a. Answer: that is called a 93, not nas
IV. Analysis of next clause — 9120 70 >»% are valid as 29
a.  »ax:only valid if the top of one leaf reaches the base of the next one
i.  Support: ®n»11 which invalidates Y1an 70 *»¥ against our mwn
1. Resolution: if leaves overlap, valid; if not — invalid
2. Note: some read »aR’s qualification as a resolution to contradiction between mn»a
b. Tangent: tradition of 1”27 as to location and identity of 19an 71 ¥ (but cf. Wars IV, 8:2)
V. Final clause — 299 which is 3 n’nav — enough to shake — is valid
a.  Snmpw: the 1w of N1 ©TN is V"; a ANy is V™, so that the a9Y will protrude 1 nav from others
b. 1y 71 the spine of the 2%% must protrude above v71h by 1 nav
i. Therefore: read our mwn as “3 v'nav and enough to shake” (=1 more nav)
C.  Ap73 0, commenting on DY, notes that the nnk used is 5 oNav (i.e. each nav is 1/5 bigger)
i. Challenge: 9RnWw ruled like v but also ruled that the na1yy ©7n are 3 (standard?) onav
1. Answerl: he was inexact
a.  Challenge: one might be inexact X1mNY, not XNpY
2. Answer2 (per p27s report): 0™ ruled that the 6 n'nav fit into an nnX of 5
a.  Therefore: actual MW are smaller than usual 27 8Y YRNWY and it was XM
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